BUILDING CESIGN NOTE:
IN ACCORDANCE WITH THE 2018 INTERNATIONAL SUILDING CODE

STRUCTURAL DESIGN NOTES:

1. Contrector to verify cll dimensions ot construction site prior
to beginning construction work.

2. Contractor is responsibla for complience with oll local
building codes and ordiances.

3. Thm notes shall crpz where indicoted otherwize by drawings

or spaecifications. tail shown for one condition” shall opply
for oll like or similor conditions unless specific detailing is
shown on the plans.

4. Tho controctor shall grvvid g and brocing for
oli the work during the constructuon punod und prolec!?g'l from
the public.

5. Al mu.atumpnmduoodm Bmbs or lumbaer shall be removed
from the entiro foundation ond underside of slob crec.

6. Pmdadmsmuhfwndaﬁonoroubnd-wum

where needed, for entry of _plumbmq or electrical service. Seal
mucpamngs ofter plumbing elactrice! services hove been
allod.

7. Al coﬂqrnt- shall ba standord ht 3000psi compressive
strength ot 28 dcye unlm not:ggourw Uso “Fibermesh”
corn gmd-.

8. Construcﬁmorcenw;mnhﬂmilbemdodmslabaon
grade so that the maximum crec between joints shall bo 8OO squore
feot ond the length not moro then twico the width.

9. Raeinforcing bors shall conform to ASTM A—615. Al bar sizes
#3 and smaller sholl be grode 40. Bor sizes §4 ond forger shall
ba grade 60,

10. andqurcinqmdlbyhentﬂnlnotmdhm

11. Al bolts, piates, clips, anchors, etc., sholl be hot—dipped
golvanized as per ASTM A=123. Al bolts shall be ASTM A—-307.

12 Nlnbfnpmtwﬁwcwtdmtru&sﬁmtpcintboauumd

| bolts, plotes, clips, anchors. etc.

13. Instoll 6 mil polysthylene vapor barrier under slab (ond welded
wire fabric where ugsed) ot ol stobs on grade prior to pour.
Overlap joints @ minimum of (12) twelve inches.

14. Al compacted fill to be 95 Proctor.

15. Contructor to blish finished slab el jon per latest
F.EMA zone requirements.

SPECIAL STRUCTURAL NOTES

1. The meximum of these buildings is forty (40) feet
whmm92|/2'12 gauge, golvanized metal columns.

2. The madrmum the 2 1/2 %, 15 gau better, column

for sidewalls vn'll b.?#—} . T o

3. The max. mofpoakhaghtunottommd:!l foet. Maintain 5' mox
for horizontal brocing.

4. Columna instolled ot all door openings (not to d 12 wide).

3.

Use 2 1/2 " aq. overheod heador beam over each door opening.
H-ud-rbnmrordoornpcmngactthecnchmbahodm'.hc
matching overhood rafter at three equally spoced joints.

NOTE:

STRUCTURAL MATERIAL COMPONENTS

1. 29 gouge "Ground Rid” (BOKS1) stoel roofing with a 30 yeor
iifo span warrcnty, by Fabrol (or cpproved equal).

Theae sheets are rated as follows;

a. Clozs 90 uplift test roting (UL 580)
b. Cless 4 impoct rosistance roting (UL221B)
c. Closs A fire resistance rating (UL 790)
2. Faosten sheets to eoch frome using 12—14, TY 3 peint,
self—drilling, TEK screws by Rosko Fosteners (or egual}.

“

Fromes o be 2 1/2 " square, 12 gouge, minimum yielding of

50 KSl, geivanized tube stool by Alliod Tube ond Conduit Co.

{or equal).
required for each connaection.

pNSp

Minimum edge distonce or specing for TEK scrowa is 3/4 °. Two

Spoces to be 4'—0" max. when using 29 gouge metal.

Spaces to be 5'—0" mcx. when more than S0 miles from the coast.

For verticel sheeting, can run 12'—0" mox specing with horizontal brocing.

For units or bulldings installed 50 miles of coostline thot excoed 11' sidowall height,

min. of 3’ of sheeting shall be Installed from the top down and fostenod with 12—-14»
TY 3 pooint, seil~driling TEK screws by Rooke Fostenors (or equal)

THE FOLLOWING APPUCATIONS AND TOLERANCES ON WIDTH AND LENGTH ON THE FOLLOWING DRAWINGS CAN GO AS WIDE

AS 40'—0"

IN WIDTH AND DOWN TO 10'—Q" IN WIDTH. THE LENGTH CAN GO UP TO 120'—0" AND DOWN TO 10'-Q".

ALL REQUIREMENTS ARE TC BE FOLLOWED AS INDICATED ON THE DRAWINGS.

NORTH & SOUTH CAROLINA

SPAN ROOF SHEETED ONLY

140 MPG WIND / 30 PSF ROOF (LIVE-SNOW)

Hn
et Ty,
\\‘\r\\\ CARg ¢ 4,

> .
f f?:, Q‘ESS’ 4«5{ %,
AR *G}{‘E:?_J

e 22439 z:

""fmrmu

: % X fZ_,__.

@ X
50 NS
//04” Ny :’\\\\*\

N L
ittappp s

CUSTOMER NAME:

BUILDING SIZE:

JOB SME LOC:

INVOICE § DATE

ADORESS:

CITY-STATE:

GENERAL SPECIFICATIONS

4

AL R gy,
“\ CAR oy,

K & G STORAGE, INC.

1736 HWY 301 SOUTH

DILLON, S.C. 29536
KENNY NORRIS (843) 774—2150

Benjemin L. Smith, P.E.
S.C. LIC. # 22439 — N.C. UC. # 28666

FRAMING PLANS AND DETAILS




NOTE 26 FT. TO 40 FT. WIDE, USE "W TYPE TRUSS. SEE DETAL ON S5

ot =0" 4 SPACES @ 4" = 1§ 40"
f ~] 5 MAX. SPAGNG
{ve)
¥ r - 5
'F“'" L ) !‘
-~ [
] q L q
!
.? r q al q
- .
f? " o 9 3 b . d
8 - g 4(5000PSI)00HC.M
1 I = | FIBERMESH OVER 6 MIL
3 = b GARAGE 4 ) 3 PC!.YEI'HYLEH VAPOR BARRIER |
o o - | ©ON COMPACTED {85% PROCTOR
o B " MIN.) FILL. TREAT AREA FOR
2 % Sy 4 2 X TERMITES. (WHERE REQUIRED) )
[
o »
- dq ;! !q
| 10"
p 49 -3 d
e o b L
o 10" X 8 O DOORS
by (OR LARGER DOORS WHERE NESDED)
° oY
." 10°~0" H 100" L-‘-
-- - 100" = 400~
100" — 0"

12'—0"

3or 422

=

12°-0" WAX, (VARES) E

=5~

Mj

DETL 5A ON S5

g2 \TQL‘“O’-‘“

L

‘.l' 1A ON S4
s TP, 0 AL

GALV, COLUMKS

[ 40"

4 SPAES O 4 = 18 40"

-_g- DOOR OPNG.
SHEETNG NOT SHOWN
FRONT ELEVATION FRAME

12° MAX. SPACING FOR VERTICAL SHEETING
SHEETING NOT SHOWN
BACK ELEVATION FRAME

Nty
W% CARG

ONEINRY
o

’”nmmlﬁ\“

u's'o -99%

-5‘

(g,

i‘

33@*

""’ﬂlnum\m‘“

YTy
S AR,

...... '9
%
F TR
] -
H 5
TS ‘Afi=E
Xy CRUSE
\— 29 GA STEEL SHEETING GALV. %t Q"-'!?‘.f'-"s*‘é-
& PAINTED ALL OVER. ATTACH ’,”N'\.\\\
WITH 12=14 X 3/4 TEX SCREWS (AT

WASHERS AT EACH MAJOR RIB
J BYTRY DOOR

sC e NC. UC. § 28606
T
3
SIDE ELEVATION REAR ELEVATION GARAGE DETAILS
— - —
Benjomin Benjamin L Smith
CODE, 5. SOILS DESIGN RESISTANCE OF 1 TON PER SQUARE FOOT. i
LDING AND ROOF. 6. DESIGN DATA - K & G STORAGE INC.—DLLON, S.C. 29336
ED. . ROOF LL = 30 PSF O.L = 1 PSF KENNY NORRIS (B43) 774—2150
4. SEISMIC LOAD D—-1 N SITE CLASS D. b. SLAB ON GRADE TO CARRY LL = 500 PSF - =L i, -~
NTS, SHEET




S 3OS TN
e e ~ ,-.l e 4Sd 00§ = "I AMMYO OL 3QWHO NO &v15 & ammrsmLommamasr
OSLZ—vLL (C¥E) SRRION ANNGDY 4Sd L = 10 45d O = 17 400y © “0300Y dI "SS9 TV ¥0d S d0 ¢
SESBZ O'S ‘NOTVO—DM TVHQIS O ¥ X i . VIVQ NOIS2Q 9 mmmmnﬂmsavmam\ﬂmmrz
— ! i e 0 1004 3UVNDS ¥3d NOL | 40 2ONVISISIN NOIS3A STOS ¢ 3000 ONICTING TVNOUYNYAINI B10Z L
Rhedl = NOUVATT ¥va3Y NOUYATIZ 301S NOUVAIT INOU
SUVIZA 1HOdHY)/3OVH0LS
o e
e By HOTYW HOV3 Iv S3 %
mlmw-mlmws SHINOS NIL ffg_"xﬂ-umm B HOMYN HOVE L¥
g, T S, v oMEavs Toie v 6% sl X 7Lzt Hin
! §#‘°)‘ Aln "‘» D ONLEEHS TESIS 5 63
.__- \ [— l \

I*
s

mnmlrm,,,

-
52° N

g o
b’

1583
a"r::

!— 5 St [ £ '1
SNPTIOO0 AWD ~
TV 0 Al
*§ NO YL 130
szﬁv €S NOC ¥5 430
ANVE NOUVASE INCYH3
MMOHS 10N ONLCTMS
- - - - -'.—I
SKRMI0D "X
™
S NO Vi
w2 m
S T/L T S o
mmn.czx_y% 9 L3
L=
¥ W LR

GS NO VS 130

N

ONOVAS NN & /M
) XYH ZL
OvinozZison) S

g e g

I -

i

HO XS

G

OF = § 0 SV

0-0F

L—L_"I"—.Sl "‘S ° @:ds r—l—s—j




Wiy,
W8 T A R o,

i

7S 2 1/2" sQ. {15 GA
» OR BETTER) GALV. COLUMN

»
i : 2 F _—GRADE TEK SCREWS
3 93,! ] NN PSS i3
SO S _~TS 2 1/2" sa. (15 GA. OR
i o = " BETTER) GALV. COLUMN
iz o o o il _~CONCRETE WHERE USED
RY PACK 40# MIN. : «
i ([T "sack-crere” 30" e
2—#4 BARS, ONE 12" 4| || DEEP X 8™ s 12" I 3/16" x 3 1/2" x 3 1/2"
FROM BOT'M & ONE =
14" FROM TOP #— SOLID CONC. BRICK
i 2"X4"X4" o TS 2 1/2° SQ. (15 GA. OR
**‘““:‘%‘?ﬁzh . L] DETAIL 1A SETIEN L. T
“?\ig: """" }"'.“”% A i TR e COLD BEND FOR 3/12 SLOPE
SR W DETAIL 1 (OPTIONAL REPLAC%MENT TS 2 1/2" SQ. (i5 GA OR
. Jmees . = FOR DETAIL 1 BETTER) GALV. HORIZ.
e I3 ffu,%" 30 Ik G o) (140 MPH WIND LOAD) BRACE ) FOR JONTS. STE SHEET 5
%:,;gc«’m@@?:%g TS 2 1/2" sQ. (15 GA. OR '
4

¥ L.
i

BETTER) GALV. RAFTER
COLD BEND FOR 3/12 SLOPE

{2) 3/4" TEK SCREWS. EACH

X B" LG. SLEEVE
SIDE, EACH MEMBER

THE TS 2 1/4" SQ. X 6" LG.
(14 GA.) SLEEVE TELESCOPE
INTO THE COL. & RAFTER
MEMBERS 3" EACH WAY

DETAIL 2

(140 MPH WIND LOAD)

TS 2 1/2" sQ. (15 GA. OR
BETTER) GALV. RAFTER

14 GA. CORNER BRACKET

(2) 3/4" TEK SCREWS,
EACH
(1) 3/4°

TS 2 1/4" sQ. (14 GA)

12
3 OR 41

(3) 3/4” TEK SCREWS EA. SIDE

TS 2 1/2° SQ. (15 GA. OR
V. RAFTER

TSEIEE' EACH MEMBER BETTER) GAL

SCREW IN CORNER

DETAIL 4
(140 MPH WIND LOAD)

TS 2 1/2" sQ. (15 GA. OR
BETTER) GALV. RAFTER

250 C 250 (15 GA)

GALV. X 5'—0" LG.

FASTEN "C” SECTION TO
TUBE SECTION WITH
(6) 3/4” TEX SCREWS
EACH SIDE

DETAIL 3

(14

0 MPH WIND LOAD)

SEE SHEET S6 FOR DETAIL \,w{“&“_‘f“;ﬂ""% @}\\‘,:*g“‘.‘g‘_;'_'ggw%
‘ SRmToi vt SSUES .-5 i’fg
(2) 3/4” TEK SCREWS. EACH PR s 2 §g <~ ™
SIDE, EACH MEMBER g inhe i B PR
’aﬂ;&j’} N 3. ?-5~,{Z:‘¢§ STRUCTURAL DETAILS
Uy T 2o s ==
DETAIL 2A %’%ﬁj,m L g b S Benjormin L Smith Benjomin L. Smith
(OPTIONAL REPLACEMENT Banjomin L Semith, PE - X & G STORAGE NC-CAION, S.C 29538
FOR DETAIL 2) S UG, 422438 - NG, Uc. fossss = e
{140 MPH WIND LOAD) NTS, SHEET 54




1S 2 1/2" sQ. (15 GA. OR

TS 2 1/2" sQ. (15 GA—{

FLAT CENTER BRACKET
SEE SHEET S5 BETTER) GALV. RAFTER
FOR DETAIL :
e (2) 3/4" TEX SCREWS
- (8) 3/4” TEK SCREWS =
s

(4) EACH MEMBER

TYPICAL_ENDWAL

OR BETTER) GALV.
VERT. BRACE
TS 2 1/2" sQ. (15 GA. OR 2 1/2°
BETTER) GALV. HORIZ. Z
BRACE s E—
DETAIL 5 %
eI 9 2 1/2
(14 GA GALV. ANGLE) i
i
DETAIL 7 i
1/8" X 2" X 4" GALV: . e e !
TS 2 1/2" sSQ. (15 GA. OR ANGLE BRACK
e Bl g BETTER) GALV. RAFTER ¢ A il : ety s
CONNECTIONS TYPICAL BUILDING FRAME
TS 2 1/2" sQ. (15 GA. (2) 3/4" TEK SCREWS, EACH
OR BETT{ER} Scis.v( SIDE, EACH MEMBER
VERT. BRACE
TYP. CONNECTION FOR TS
Tsz;/z'so. (15 GA. OR SHOWN O ST 8
BETTER) GALV. HORIZ.
BRACE
DETAIL 5A & AL 1
SN AR, wNUChiems  TYPICAL "W” TRUSS DETAIL
TS 2 1/2"° (15 A FOR ANGLE BRACKETS, Se¥ ;’Ef' eSSt/
OR BETTER) - L / SEE DETAIL 7 £ ¢ 8 & —
GALV. MEMBER L g gho ez = 31 amees ) =
= -‘.\D‘ i ‘-‘,' = % '_' - & ._' = m
=== Wity Ry [T swewows
(2) 3/4" TEK SCREWS EACH Ui RO 1y R C— —
LEG, EACH MEMBER lf’ll’”ﬂ"’lzluhﬁ\“\\\\ %Mrfrﬂm,ﬁﬁ\\“”\ Benjomin L. Smith Banjarnin L. Smith
Benjornin L. Smith. PE o STORMGE LD
DETA”_ 6 5C UC. §22438 — N.C. UC. §28686 n‘cmmnou:;(aa)??:;:om
- (-7‘ NTS, _-_amn




4
\z 1/2" GALVANIZED STUDS

2 1/2° GALVANIZED sruos/

SECTION

"W” TRUSS FOR 26’ TO 40" SPAN

AW,
Gt\:zq%
4% 0T
ﬂ*:% o P57

£
§ 7%
] i@ No. 22439 Z: E
?;,a":":b '3'@-‘“:‘:"* g
2ol DS
R, (N
TR
S

E-3
5
H
TYPICAL DETAIL g 4
. -__=, :‘
v 9" 2a. -3/ [
~ %, "‘\fqmg._i_-?;@g
¥ 20 THE
e Q Zrmy
© Benjomin L Smith, PE
o o g" S.C. UC 22430 — NC. UC. 28868
e ° ° > s . 322509-14
EN o
24" [P W TRUSS FOR 26' TO 40° SPAN
z /2" TYPICAL DETAK.
FLAT CENTER BRACKET 14 GA. BRACKET Soyonii L Sl ! b sl
FOR TRUSS JOINTS » K & G STORAGE INC.-OLLON, S.C. 28536
KENNY NORRIS (B43) 774—2150
-y o ey
[ KIS SHEET S8




3000 PSI CONCRETE FOOTER, MIN. OF 4" DEEP UNDER UNT 347

L + - - - +
N g
TIE TO CONCRETE wiTH  5/8°
WEDGE ANCHORS AT 487 0.
L L 318" X 27 X3
TOP VIEW
21/47 %2 1/4 X 13 CA S4.
il 3| 8 8 il
! - 3 L r o 4 a2 = 11 = T X7 ) r |
A A A i) [
3000 PSI CONCRETE FOOTER, MIN. CF 4" DEEP UNDER UNIT
SIDE VIEW

INSTALL 2 1/4" X 2 1/4" X 13 GA. SQ. TUBING, 5 INCHES HIGH, 4 FT. 0.C. TO
GALV. L 3/18" X 2" X 3™ SHOWN. WELD TO BASE TUBE.

SUDE THE 2 1/2" X 2 1/2° X 13 GA. SQ. TUBING OVER THE 56" HIGH TUBING.
FASTEN WITH 12-14 X 3/4" TEC SCREWS ON 3 SIDES.

3. TVHIS APPUES TO SUPPORT FOR ALL STEEL STRUCTURAL UNITS.
4. WHERE UNITS ARE MORE THAN 50 MILES FROM COAST THE COLUMNS
MAY BE 5 FEET ON CENTER. OQTHERWISE COLUMNS TO BE 4 FEET ON CENTER.

S. SIDEWALL BRACING REQUIRED ON UNITS GREATER THAN 11 FT SIDEWALL HEIGHT,
CONSISTING OF 3 FEET OF SHEETING FROM THE TOP.

WHERE COLUMNS ARE INSTALLED INTO THE CONCRETE FOOTERS
USE #4 REBAR THROUGH THE COLUMNS IN TWO DIRECTIONS,
WHEN THERE IS NO SLAB. USE ANGLE AS SHOWN IN DETAIL 1A

WHEN USING A SLAB.

48" o.C.

L 3/18" X 27 X 3" conm,
HOLE FOR 5/8" ANCHORS

CALY. SO. TUBING 2 1/47 X 2 1/47 X 13 GA,

FRONT ELEVATION

SIDE ELEVATION

TYPICAL FOR RAFTER EXTENSION OR LEAN TQ CARPORT

e,
R aiw CAR e,
> .o d)
S ST
] s v %
= 0 i B
R S . 28866 , : =
E 3 1o T
7 t R A
iy S K/ TT R
ety g

Benjornin L Smith, PE
SC. UC. §22439 - NC. UC. 28886

G
T~ CIETeIIE CARPORT ETORAOE STEID
e —
Benjomin L Smith Banjomin L. Smith

- K & G STORAGE INC.—DILLCN, S.C. 29838 -

KENNY NORRTS (B43) 774-2150
arr AL Rt

NTS, SHEET S




